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Data used

e Locatedin:
TB2017-06/DESY/ConvertedData/pass3/Tungsten/conf{1,2,3}/grid20/ GeV_build.root
e Usually two trees (e.g.: ‘ecal;29’, ‘ecal;28’) — use the one with largest cycle?

e Tungsten configurations:

* W-configuration 1: 0.6,1.2,1.8,2.4,3.6,4.8 and 6.6 X
* W-configuration 2: 1.2,1.8,2.4,3.6,4.8,6.6 and 8.4 X
* W-configuration 3: 1.8,2.4,3.6,4.8,6.6,8.4 and 10.2 X,
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Selection

Hit maps for the sum of all showers (conf2, 1GeV):
— At the moment: cut on [20, 70] in hit_{x,y}, but need to automate this
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Fitting average energy
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Fit results conf1 -1,2,3//4,5,5.8 GeV

(EO normalization to be fixed)

EOD -.= 2 253e+04+0.004179 | ED = 1e+05%1.714e-06 . ED = 2.493e+04+0.004803 °
a=5471+1212e-07 a= 46%8.44e-09 a=3875+9 834e-08
b= 1%1.776e b=0825+1067e-08 b=06577+6.52e-08

=1-1.297x1/ =-0.7595+5305e<08 d = 0.08466+3.377e-07
chi2/ndof = 69e+13(4 106e+13/3) chi2/ndof = 2. 8 le+13(8.666e+13/3) chi2/ndof = 3.735e+1811.12e+11/3)
E0 = 1e+05+6.176e+04 E0 = 1e+05+B0.37 : E0 = 1.404e+04+0.000678 *

a=4418+9683e-08
b=0.737%£158le-11 b=0.732+7.181e-08
d=-0.5121+274e-10 d =-0.1594%] 285e-07

3(4.265e+13/3) chi2/ndof = 9.775e342(2.932e+13/3)  chi2/ndof = 4 381e+

a=4473%4351 a= 451+1.38%-10

b=07767%0.7388
d=-0447+141

chi2/ndof = 1.422 1.314e+11/3)



Fit results conf2-1,2,3//4,5,5.8 GeV

(EO normalization to be fixed)

EQ0 = 1e+05%45.5 ’ E0 = 1e+05%1 491e-06
a=4747+54096-11 a=4723+7.223e
b=07564% b=07264+82
d=-1102+2121e-10 | d =-1003%5.

chi2/ndof £ 4. 51e+13(1.353e+14/ chi2/ndof =

ED = 1e+05+48.36 o E0 = 1le+05%102 3 E0O = 2442+ nan
a = 4.94+2 648e-11 a=4459+]1 218e-10 a=>5.254+ nan
=0.7241+2.65 b=06747%x6.007e- b=07779% nan
d =.1,026+9.72 d=-05384+905 d =-0,4946% nan
chi2/ndof = 1.915e410(5.746e+10/3)

chi2/ndof = 1.35§5e+14(4.065e+14/3)" chi2/ndof = 2.132e+13(6. 394e+l3l3)



Fit results conf3-1,2,3//4,5, 5.8 GeV

(EO normalization to be fixed)

ED = 1e+0540 0003114 ED = 1e+053 =

-1.381+3.317e-

i2/ndof = 5.976e+12( +13/3)_chi2/pfiof = 3.991e+13(1.197e3 a13)

93e+13/3) chipfndof = 2. 063e+13(6 1

ED = 1e+05%£00

d=-0426¥+2 14905
chi2/ndof £# 5.942e+10(1.782e+11




Backup
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dE/dt

Fitting the sum of energy deposition (5.8 GeV)
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Xo

Z and X0 for configurations

Relation between z and x0 for confl
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